R6.6.1 Bl SramEEAnR S sl R

JNE] i H FEHE BRI fhENRE TN E)
LU HaEL 5 i ] A HEPER| AR SET| I EsA ERsH &EH (H) | (&)
X 49,693 109, 768] 53, 341] 56, 427 118 68l 37 52 89 105] 517 412 0 106 106
HI—TH 710( 1,472 718 754 0 -6 -1 2 3 -1 5 6 —4 0 4
FL T H 580[ 1,306 649 657 -1 -3 -1 0 1 -2 2 4 0 0 0
LI =TH 480 1,052 499 553 9 10 0 0 0 8 9 1 2 2 0
SLbAEH 1, 7700 3,830]  1,866| 1,964 8 1 -2 2 4 5 16 11 -2 2 4
Sk —TH 494 950 447 503 1 8 0 0 0 9 11 2 -1 0 1
. = 738 1,687 804 883 3 -3 -2 0 2 -2 5 7 1 1 0
SR —TH 571 1,297 618 679 3 -3 1 1 0 2 4 2 -6 0 6
S AT H 401 876 440 436 3 1 1 0 4 7 3 0 0 0
ot T H 620| 1,323 635 688 3 1 1 0 0 6 6 1 1 0
BN T B 241 493 248 245 2 0 0 0 1 2 1 1 1 0
ARt TH 653 1,621 788 833 1 0 0 0 4 6 2 -2 1 3
oA\ T H 392 835 384 451 -2 -7 1 1 0 -8 0 8 0 0 0
IV B 627|l 1,470 718 752 2 —4 0 1 1 —6 1 7 2 3 1
B naatl 4,737 10,552 5,082 5,470 16 2 5 3 4 42 38 —4 7 11
e n—1H 356 783 381 402 3 0 0 0 2 4 2 1 1 0
waE s T AL 1,028 2,091 1,044 1,047 2 -1 -3 0 3 2 12 10 0 2 2
HHk o —TH 676| 1,374 668 706 1 -3 -1 0 1 1 3 2 -3 0 3
Wk A5 2,060  4,248] 2,093] 2,155 6 -1 —4 0 4 5 19 14 -2 3 5
ST a1 H 5571l 1,236 594 642 -1 -1 -2 1 3 1 1 0 0 0 0
A T H 365 916 462 454 0 -3 -1 0 1 0 0 0 -2 0 2
Mk R =TH 249 545 280 265 -3 —4 0 0 0 -2 1 3 -2 0 2
ik L G| 567 1,296 660 636 -1 -2 0 0 0 -2 0 2 0 0 0
msEr aaEtl 1,738 3,993 1,996 1,997 -5 =10 -3 1 4 -3 2 5 —4 0 4
TEIT) 387 848 409 439 4 3 -1 0 1 3 7 4 1 1 0
HOEEN— T H 216 436 219 217 1 -1 -2 0 2 1 2 1 0 0 0
HOEE T H 442 951 469 482 5 6 0 0 0 5 7 2 1 1 0
HoEEI =T H 724 1,708 836 872 7 10 1 1 0 4 10 6 5 8 3
HOEEAN T H 824/ 2,063| 1,026 1,037 4 6 1 2 1 1 5 4 4 7 3
HEROH T H 437 1,009 511 498 -2 -1 0 1 1 -3 0 3 2 2 0
HOEEIS T H 399 859 424 435 10 13 1 1 0 12 17 5 0 0 0
HoEEOETH 678 1,424 699 725 1 4 0 0 0 6 9 3 -2 2 4
HOEEROS AR 3, 7200 8,450| 4,184 4,266 26 37 1 5 4 26 50 24 10 20 10
PEEER| 1,5200 2,725 1,314| 1,411 -6 -8 -2 0 2 -6 5 11 0 0 0
FHIAR 305 637 324 313 0 -2 0 0 0 —4 1 5 2 2 0
EE g —T 554 1,120 519 601 2 3 1 1 0 0 2 2 2 2 0
EE g — T 263 510 251 259 2 0 0 0 0 0 2 2 0 0 0
R =T H 540( 1,169 581 588 5 6 -1 0 1 6 6 0 1 1 0
TEE Py T 665/ 1,316 624 692 4 2 -2 0 2 7 9 2 -3 0 3
EEP g R T H 238 544 265 279 0 -2 0 0 0 -2 1 3 0 1 1
EER A2 2 260 4,659 2,240| 2,419 13 9 -2 1 3 11 20 9 0 4 4
B RHT— T H 723 1,412 672 740 6 3 3 0 6 28 22 -2 0 2
EEIARRT T H 681l 1,293 597 696 5 2 2 0 -1 8 9 1 1 0
EEOARRTAE 1,404 2,705 1,269 1,436 11 5 5 0 5 36 31 -1 1 2
RPN 273 768 415 353 -3 -6 -3 0 3 -1 2 3 -2 0 2
WHR—TH 737 1,646 806 840 -1 -2 -1 0 1 1 11 10 -2 0 2
HOOR T H| 1L,737 3,895 1,886 2,009 -2 —4 -1 5 6 -8 13 21 5 5 0
WHR=TH 878 2,195| 1,068 1,127 -1 -2 1 2 1 -2 4 -1 1 2
HHRIT H 505/ 1,194 564 630 -1 -5 -2 0 2 -3 5 0 0 0
HPREEH 3,857 8,930| 4,324] 4,606 -5 -13 -3 7 [ -12 33 45 2 6 4
HiR—TH 733l 1,585 780 805 6 10 -1 0 1 3 8 5 8 8 0
LR - TH 964/ 2,272| 1,134] 1,138 7 11 0 1 1 10 14 4 1 1 0
PR =TH 510/ 1,061 550 511 8 4 0 0 0 3 11 8 1 1 0
JeRAE 2,207 4,918| 2,464| 2,454 21 25 -1 1 2 16 33 17 10 10 0
T IROBTHT 327 795 379 416 -1 -5 -1 0 1 -1 3 4 -3 0 3
el 1,638 5,093 2,260 2,833 4 2 -5 0 5 7 23 16 0 2
M E T H 788 1,783 861 922 5 10 0 0 0 18 10 1




R6.6.1 Bl SramEEAnR S sl R
JNE] Fij T EE I H SREh e fhENRE TN E)
LU HaEL 5 i s A AR AR SET) ] A EREH &EH (H) | (&)

FYlE 1T H 769 1,794 894 900 4 9 -1 2 3 3 7 4 7 7 0
MoE =1 H 630| 1,456 712 744 -1 -1 -1 0 1 0 3 3 0 2 2
A EN T H 938 2,201| 1,045 1,156 4 9 -1 0 1 2 4 2 8 9 1
RCENNE 682l 1,505 741 764 2 1 0 0 0 3 7 4 -2 1 3
MAEST H 415 961 448 513 0 0 0 0 0 0 1 1 0 0 0
Ml Eaa  4,222( 9,700] 4,701 4,999 14 28 -3 2 5 16 40 24 15 22 7
VEPIe S 593l 1,151 563 588 6 9 1 1 0 7 10 3 1 1 0
e —TH 330 698 336 362 1 0 -1 0 1 1 2 1 0 0 0
i — T H 598( 1,309 628 681 -2 -1 -2 1 3 1 5 4 0 0 0
A gl 928 2,007 964| 1,043 -1 -1 -3 1 4 2 7 5 0 0 0
Eh— 1 H 307 677 343 334 3 -1 0 1 1 2 3 1 -3 1 4
B — T H 696 1,412 660 752 10 11 0 1 1 10 11 1 1 3 2
=T H 4311 1,080 545 535 0 1 -1 0 1 2 4 2 0 0 0
EAE| 1,434 3,169 1,548| 1,621 13 11 -1 2 3 14 18 4 -2 4 6
e —TH 389 922 431 491 1 2 0 0 0 2 3 1 0 0 0
WHE T H 448 1,063 526 537 1 1 -1 0 1 2 5 3 0 0 0
HWHE =T H 837|l  2,035| 1,033] 1,002 0 -2 -3 0 3 1 6 5 0 0 0
W& T B 448|l 1,016 495 521 -5 -7 -1 0 1 -2 3 5 -4 0 4
B E ] H 849 1,807 895 912 -1 0 0 1 1 2 8 6 -2 0 2
HHIENT H 245 498 251 247 2 2 0 0 0 1 3 2 1 1 0
HESEr 3,216 7,341 3,631 3,710 -2 —4 -5 1 6 6 28 22 -5 1 6
<HWE—TH 598 1,332 643 689 -2 —4 —4 0 4 -2 1 3 2 4 2
<HEIL—TH 706 1,461 713 748 -5 -8 0 1 1 -11 2 13 3 3 0
SHBEIL=TH 513 1,100 539 561 -3 -12 -5 0 5 -3 8 —4 0 4
<HEWLPTH 586f 1,179 575 604 0 7 1 2 1 6 10 4 0 1 1
<O T H 270 586 311 275 0 -2 0 0 0 2 2 0 —4 0 4
<X AR 2,673l 5,658 2,781 2,877 -10]  -19 -8 3 11 -8 20 28 -3 8 11
WIE AR —TH 803l 1,688 833 855 -1 —4 -1 1 2 -1 6 7 -2 1 3
WIEAR T H 486[ 1,138 588 550 -1 3 1 2 1 2 7 5 0 0 0
PIEARTSE 1,289 2,826] 1,421 1,405 -2 -1 0 3 3 1 13 12 -2 1 3
s 415 791 375 416 -1 -1 0 0 0 -3 1 4 2 3 1
ek a—TH| 1,188 1,861 860[ 1,001 -1 2 3 4 1 -2 20 22 1 1 0
e T H 597 1,068 514 554 0 -8 2 2 0 -2 10 12 -8 0 8
kR =T H 759 1,815 848 967 1 2 -1 0 1 3 4 1 0 1 1
sk BRI H 424 857 412 445 -2 -5 -1 0 1 —4 5 9 0 0 0
ok aaE |l 2,968 5,601 2,634 2,967 -2 -9 3 6 3 -5 39 44 -7 2 9
FRIREET 22 52 26 26 0 0 0 0 0 0 0 0 0 0 0
B 740( 1,716 821 895 -1 1 0 3 3 3 8 5 -2 1 3
VEEE 339 729 335 394 3 3 -1 0 1 1 2 1 3 3 0
e — T H 456 1,098 543 555 2 2 1 1 0 2 7 5 -1 0 1
e T H 410 905 446 459 1 2 0 1 1 0 3 3 2 2 0
oo B R 866 2,003 989 1,014 3 4 1 2 1 2 10 8 1 2 1
P — T H 717 1,441 726 715 7 8 1 1 0 11 21 10 —4 0 4
P T H 543 1,272 601 671 2 1 -1 0 1 2 4 2 0 0 0
WeEm A s 1,260 2,713 1,327] 1,386 9 9 0 1 1 13 25 12 —4 0 4
P e 315 688 352 336 0 -3 0 0 0 1 1 —4 0 4
BEHIR 210 472 254 218 0 -2 -2 0 2 0 2 0 0 0




